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VERSION 1 2023

Narrated by Lisa Fiorenza

Answer the responses on the Level 3 test after each question. ‘













CHOOSE THE TYPE OF TRIAD

QUESTION D-
YOU HEAR.

B. Minor

A. Major
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QUESTION G-

IS THE RHYTHM YOU HEAR
THE SAME OR DIFFERENT AS
THE ONE SHOWN?

e —

N\ 2
a. Same b. Different ‘




QUESTION H-

IS THE RHYTHM YOU HEAR
THE SAME OR DIFFERENT AS

THE ONE SHOWN? \
— I
\N&
a. Same b. Different ‘




QUESTION I-

CHOOSE THE INCORRECT
NOTE BEING PLAYED IN THE
FOLLOWING PASSAGE.

A B C. or
1 e G -
b e A . S — —
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